Result Uncertainty POWHEG MG5_AMC@NLO

Fiducial phase space

0ae [PPl 0152 £ 0.022 (stat.) = 0.019 (syst.) 0.187 +0.030 0.188 + 0.026
0ap PPl 0120 4 0.009 (stat.) 4= 0.012 (syst.) 0.097 = 0.016 0.101 £ 0.014
wr [pb] 5.06 =£0.11 (stat.) £ 0.41 (syst.) 595+ 0.79 6.32 £0.79

R [%] 2.37 +£0.32 (stat.) £ 0.25 (syst.) 2.53 +0.06 2.43 +0.06
Ry, [%] 1.87 4 0.14 (stat.) & 0.16 (syst.) 131+£003 130+ 0.03
Full phase space

U [pb] 743 +1.07 (stat) £ 095 (syst)  9.15+1.44  892+126
Oqp PPl 412 +032(stat) + 042 (syst) 3354054 339+ 049
ogr [pbl  217.0 4 4.6 (stat) + 18.1 (syst.) 2551 +320 260.6 +32.8
R. [%] 264 4036 (stat) £ 028 (syst)  2.82+0.07  2.72+0.05
Rp [%] 147 +0.11 (stat.) & 0.13 (syst.) 1.034+0.03  1.03 4 0.02



